—BIL%  STEX

R Lz (o) e EVAHIR~E — o
=faI53 2600r 5 1&:1400 gﬁgy BITE
— 48 2350 H:2100 Ba47:2150 BITE /=255 H:3000
=1L R :350m o W: 1600 BE:12550 H:2000 — W:2700
=AIL43 75:300 EVAIRTA f5E= 1 1350kg W:2400 HARRIZ217] ) L 14700
186000 BB ERARE
BA17:4000 ,
=Zx:3000 0| — < . | g s
T&H & :6100kg

A0-7°

N 1
M

® o NINANONs
""""" A A
,,,,,,, —111, gt RO

BT =
W:6000 TSI F O
H:3000 | | s>

BTk
W:1000
H:2100

B\ .....'--......... . X //’/‘/V “““““ "
Iiﬁﬂﬁfﬁ@%ﬁ 2’ e\

4
.
.
/
4
.
N
Nrerr L

HRDEEIL R

EV AOdR~E BRENIE1.2mUAICERB AT
&: 1200
B47:2400
=&:2550
faE = 1250kg
X BEFERART




